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133]168|135|169|(134(171[137|167]|132|169|136|176||138|166|130|169|(133[162(131|164||135|171|112|178||HJ |UDE|Total|Kampe|Plac
Kerte/Arup jagtf. 2 2 2 2 2 2 6] 4 10 12| 4
122]173]|120|176 131]|173]127|170][{129(172(142|170(|136]|173|130|167||136|173|122|173|{130{174{113|173
Skastrup 2 2 2 2 2 2 10/ 6| 16 12| 3
137]|170]130|170][138(167(131|171 129|170]133|168|[{140{168[135(173||121|170] 0| 0||144|171|121]|179
Kveerndrup jagtf. 2 2 2 2 2 Disk|| 2 10 6] 16 12 2
137]|168|126|166|(148(168(120(176(|138|169]|110|170 142]|166|132|167|[{142(167(114(178|132|169]|108|178
Strandager/Skeby 1 2 2 2 2 2 2 12| 12| 24 12| 1
134]170]136|173|[133|175|129|173||133|170{132|165(|117|172|125]|174 114|171]133|169|[{133[166f 0O O
Svanninge jagtf. 2 2 2 2 2 2|vuk 6 2 8 12| 5
139|169|135|169|(132(168(135(173||130|173|131|173|| 0| 0]|130|169| Oof of O] O 134|172|107|179
Stige 2 2 2 2 Disk| 2 mgl 2 4 2 6 12 6
111]|174]130|179](108(186(128(177||116]|171]|124|171|/110|180|131|169|[{116{175(132|168|] O] O] O] O
Strandager United 2 2 2 2 2 mgl 0 0 0 12| 7
Totale duer Gens. Pr. kamp Deltager i finale
Kerte/Arup jagtf. 1447 120,6
Skastrup 1432 119,3
Kveerndrup jagtf. 1570 130,8 Finale
Strandager/Skeby 1 1636 136,3 Finale
Svanninge jagtf. 1423 118,6
Stige 2 1035 86,3
Strandager United 1122 93,5
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